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Solve for Pei Ho

Pt~ IR RO 2 O I T o
Pp = 121, psia

using Pp = 124, finc o new Fuy
Rov = 1.087

and Pp = 1223 psia
ST —

Pressurs Urep Asross Chokes
dPal™ ?f - ("t * d?ﬁ. + d.ﬁ“n)

Fhere:
dPap = Preassure drop across choke
Pp = Pressures upstrea: of choke
Py = Flowing surface rressurs, paii
d?ep = Friction loss in flow siring
dPy = Gas column pressure

Datas
Pp = 1223 psia
Py = 314 psia
dPpp = 393 - 314 = 79 psi
dPy, = 51 psi

and diph = 1223 ~ (314 « 79 + 51)

dfep = TT9

This pressure drop across the choke must be added to the caloulated Py in
order to obtain a true value of Fy,

Py =393 779

Fy = 1172 psia
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